as ¢ P(AS)
= ((#) —f—t’(@)

/S
9 — ((Aa8)

o OC

gttt CRAC) = COAY % PLC)

2 x-S <= ~1&

2 _ o
Simplify fully 2% 2%~ SO
6x”> —5x+1 Z5¢ +10%-x-5

2"4(2!*5') ~ (= +¢)

=) (x+5) ERRNICALY
(30 S

[)Lz "}:( "?"(-l'(

3 ( 3){/25:4)-( [z.,g_\)
T (lu-‘) (?><-—\)

X £ <




18.

C Diagram NOT
accurately drawn

AB is a diameter of a circle.
C is a point on the circle.
D is the point inside the circle such that BD = BC and BD is parallel to CA.

Find the size of angle CDB.

You must give reasons for your answer.
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21.  Umar thinks (a +1)*=&* + 1 for all values of a.

(a) Show that Umar is wrong.

2

Here are two right-angled triangles.
All the measurements are in centimetres.

Diagrams NOT

accurately drawn
(ct+1)
£ (a+1)

b (b+1)
(b) Show that 2 +2b + 1 =2¢

2 L
AT (ar )+ (b) =Cerd’

C—

g
G.z' +2e 4 ( 4020l s Tl

41_5.524- Z"\"'Z'JA-'L—’:C-\:I-ZC I

/&.2«*2941 :}%-ZQ
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Diagram NOT
- t‘\->

accurately drawn -
A& = Ao taf

In the diagram, C D = CA + A b

OB =b
- —7
oc =c = 2 c + % A'K
oc =1 04

3
< 2c + 2 (-3cw8)
BD = — BA Z (- 5

; 2e+ Z(-Te+t
Find CD in terms of b and ¢.

= 2¢t -~ 3: (5 2—_ £
Give your answer in its simplest form.
You must show all your working. L ¢ + 2 L
- = = — a —




